

Fulton County Board of Commissioners

Agenda Item Summary

BOC Meeting Date 12/19/2018

Requesting Agency

Commission Districts Affected

Public Works

Requested Action (Identify appropriate Action or Motion, purpose, cost, timeframe, etc.)

Request approval to renew existing contract - Department of Public Works, Bid# 17ITBC104868A-MH, Fire Hydrants and Parts in the total amount not to exceed \$380,077.43 with Fortiline Waterworks (Concord, NC) to provide fire hydrants and parts. This action exercises the second of two renewal options. No renewal option remains. Effective dates: January 1, 2019 through December 31, 2019

Requirement for Board Action (Cite specific Board policy, statute or code requirement)

In accordance with Purchasing Code Section 102-394(6), the Purchasing Department shall present all renewal requests to the Board of Commissioners at least 90 days prior to the contract renewal date or 60 days if the contract term is six (6) months or less.

Is this Item related to a Strategic Priority Area? (If yes, note strategic priority area below)

Yes All People are healthy

Is this a purchasing item?

Yes

Summary & Background

(First sentence includes Agency recommendation. Provide an executive summary of the action that gives an overview of the relevant details for the item.)

Scope of Work: To provide fire hydrants and parts for installation by Fulton County Public Works crews or authorized contractors in the North Fulton water service area.

Community Impact: Failure to procure and maintain these items in stock can negatively impact the operation of the Water Services in maintaining the water systems throughout North Fulton. Subsequently, negative firefighting protection can occur if the replacement system parts are not procured in a timely manner.

Department Recommendation: Department of Public Works recommends approval to renew an existing contract fire hydrants and parts.

Project Implications: Failure to procure and maintain these items in stock can negatively impact the operation of the Water Services in maintaining the water systems throughout North Fulton. Subsequently, negative firefighting protection can occur if the replacement system parts are not procured in a timely manner.

Community Issues/Concerns:

No issues/concerns have been raised by constituents or clients regarding this agenda item.

Agency Director Approval		County Manager's
Typed Name and Title Felicia Strong-Whitaker, Director	Phone (404) 612-5800	Approval
Signature	Date	

Revised 03/12/09 (Previous versions are obsolete)

Continued

Department Issues/Concerns: There are no issues / concerns known to Public Works staff.

Amount Spent in FY2017: \$157,451.64

History of BOC Agenda Item:

CURRENT CONTRACT HISTORY	BOC ITEM	DATE	DOLLAR AMOUNT
Original Award Amount	17-0116	2/1/2017	\$380,077.43
Renewal No. 1	17-0797	10/4/17	\$380,077.43
Renewal No. 2			\$380,077.43
Total revised amount			\$1,140,232.29

Contract & Compliance Information (Provide Contractor and Subcontractor details.)

Contract Value: \$380,077.43

Prime Vendor: Fortiline Waterworks, Inc.

Prime Status: Non-Minority
Location: Concord, NC
County: Cabarrus County

Prime Value: \$380,077.43 or 100.00%

Subcontractor: None

Total Contract Value: \$380,077.43 or 100.00%

Total M/FBE Values: -0-

.

Solicitation Information	NON-MFBE	MBE	FBE	TOTAL	
No. Bid Notices Sent:					
No. Bids Received:					

Total Contract Value	\$380,077.43 or 100.00%
Total M/FBE Values	-0-
Total Prime Value	\$380,077.43 or 100.00%

Fiscal Impact / Funding Source

(Include projected cost, approved budget amount and account number, source of funds, and any future funding requirements.)

203-540-5453-1450: Water & Sewer R & E, Public Works, Maintenance Supplies - \$380,077.43

Exhibits Attached

(Provide copies of originals, number exhibits consecutively, and label all exhibits in the upper right corner.)

Exhibit 1: Contract Renewal Agreement Exhibit 2: Contractor Performance Report

Exhibit 3: Contract Renewal Evaluation Form

Exhibit 4: Revised Pricing Sheet

Source of Additional Information (Type Name, Title, Agency and Phone)

Nick Ammons, Deputy Director, Public Works 404-612-7530

Agency Director Approval		County Manager's
Typed Name and Title Felicia Strong-Whitaker, Director	Phone (404) 612-5800	Approval
Signature	Date	

Revised 03/12/09 (Previous versions are obsolete)

Continued

Procurement			
Contract Attached:	Previous Contracts:		
No	Yes		
Solicitation Number:	Submitting Agency:	Staff Contact:	Contact Phone:
17ITBC104868AMH	Public Works	Nick Ammons Public	404-612-7530
		Works	
Description: Fire Hydr	ants and Parts		
	FINANC	IAL SUMMARY	
Total Contract Value:		MBE/FBE Participatio	n:
Original Approved Am	ount: \$380,077.43	Amount: .	%: .
Previous Adjustments	0.00	Amount: .	%: .
This Request:	\$380,077.43	Amount:-0-	
TOTAL:	\$760,154.86	Amount: .	%: .
Grant Information Sur	mmary:		
Amount Requested:		☐ Cash	
Match Required:		☐ In-Kind	
Start Date:		☐ Approval to A	Award
End Date:		☐ Apply & Acce	ept
Match Account \$:			
Funding Line 1:	Funding Line 2:	Funding Line 3:	Funding Line 4:
203-540-5453-1450			
(pending approval			
2019 budget)			
	KEY CON	NTRACT TERMS	
Start Date:	End Date:		
1/1/2019	12/31/2019		
Cost Adjustment:	Renewal/Extension T	erms:	
	. No renewal option re	mains	
		6 & APPROVALS edit below this line)	
	(DO HOL	edit below triis line)	
X Originating De	partment:	Clark, David	Date: 12/5/2018
X County Attorne	ey:	Stewart, Denval	Date: 12/8/2018
	ntract Compliance:	Strong-Whitaker, Fe	elicia Date: 12/10/2018
	et Analyst/Grants Admin	: Freeman, Ashley	Date: 12/5/2018
. Grants Manag	ement:		Date: .
X County Manag	er:	Anderson, Dick	Date: 12/10/2018



DEPARTMENT OF PURCHASING & CONTRACT COMPLIANCE

CONTRACT RENEWAL AGREEMENT

DEPARTMENT: Public Works

BID/RFP# NUMBER: 17ITBC104868A-MH

BID/RFP# TITLE: Fire Hydrants and Parts

ORIGINAL APPROVAL DATE: 2/1/2017

RENEWAL PERIOD: FROM: January 1, 2019 THROUGH December 31, 2019

RENEWAL OPTION #: 2 OF 2

NUMBER OF RENEWAL OPTIONS: 2

RENEWAL AMOUNT: \$380,077.43

COMPANY'S NAME: Fortline Waterworks

ADDRESS: 7025 Northwinds Drive, NW

CITY: Concord

STATE: NC

ZIP: 28027

This Renewal Agreement No. 2 was approved by the Fulton County Board of Commissioners on BOC DATE: BOC NUMBER:

SIGNATURES: SEE NEXT PAGE

SIGNATURES:

Vendor agrees to accept the renewal forth in the contract and specificatio (Person signing must have signature authority	
NAME:	(Print)
(CEO, President, V	ice President)
VENDOR'S SIGNATURE:	DATE
ATTEST:	
	NOTARY PUBLIC:
TITLE:	COUNTY:
SEAL (Affix)	MY COMMISSION EXPIRES:
FULTON COUNTY, GEORGIA	
	DATE:
ROBERT L. PITTS CHAIRMAN	
ATTEST:	
	DATE:
JESSE A. HARRIS CLERK TO THE COMMISSION	
SEAL (Affix)	
DEPARTMENT AUTHORIZES RENEV	VAL OPTION ON THE AFOREMENTIONED BID/RFP
DEPARTMENT HEAD: David Clark	
DEPARTMENT HEAD SIGNATURE: _	DATE
	RM:RM
RECESS MEETING	REGULAR MEETING

DEPARTMENT OF PURCHASING & CONTRACT COMPLIANCE

CONTRACTORS PERFORMANCE REPORT GOODS AND COMMODITIES SERVICES

Report Period Start	Report Period End	Contract Period Start	Contract Period End
7/2/2018	9/28/2018	4/30/2018	12/31/2018
O Number			PO Date
540 18SC111644A			4/30/2018
lepartment	Public Works		
lid Number	17ITBC104868A-MH		
iervice Commodity	Fire Hydrant and Replace	ment Parts	
Contractor	Fortiline Waterworks		

	Tordine waterworks
= Unsatisfactory	Achieves contract requirements less than 50% of the time, not responsive, effective and/or efficient, unacceptable delay, incompetence, high degree of customer dissatisfaction.
= Poor	Achieves contract requirements 70% of the time. Marginally responsive, effective and/or efficient; delays require significant adjustments to programs; key employees marginally capable; customers somewhat satisfied.
= Satisfactory	Achieves contract requirements 80% of the time; generally responsive, effective and/or efficient; delays are excusable and/or results in minor programs adjustments; employees are capable and satisfactorily providing service without intervention; customers indicate satisfaction.
= Good	Achieves contract requirements 90% of the time. Usually responsive; effective and/or efficient; delays have not impact on programs/mission; key employees are highly competent and seldom require guidance; customers are highly satisfied.
= Excellent	Achieves contract requirements 100% of the time. Immediately responsive; highly efficient and/or effective; no delays; key employees are experts and require minimal directions; customers expectations are exceeded.

Quality of Goods/Services (-Specification Compliance - Technical Excellence - Reports/Administration - Personnel Qualification)

Comments: Fortiline Waterworks was awarded a twelve month contract on 4/30/2018 to provide the Public Works Department with Fire Hydrants and replacement parts. The quality of fire hydrants and replacement parts provided by this vendor complies with all applicable standards and guidelines.

Timeliness of Performance (-Were Milestones Met Per Contract - Response Time (per agreement, if applicable) - Responsiveness to Direction/Change - On me Completion Per Contract)

Fortiline Waterworks deliver time was excellent.	This vendor is very responsive to any changes that may arise.

Comments:	
Fortiline Waterworks conducts business with Fulton County in a professional manner. This vendor is always in contact if problems arise.	
	12 m

Fortiline Waterworks products meets Public Works unecessary changes if any.	ser quality expectations. This vendor is very prompt in makin	ng
2		
3		
4		
WEST STATE CONT. C		Nooded)
ontractors Key Personnel (-Credentials/Experience Appro	opriate - Effective Supervision/Management - Available as	, needed,
Comments: As of this reporting period the scope of services prov	vided by this vendor has met the requirements of Fulton Cour	nty. No
issues to report at this time.	1. T.	
2		
2		
L. L		
3		
200		
200		
4		
4		
4 rall Performance Rating: 3.0	Rating completed by:	kenny.byrom
4 arall Performance Rating: 3.0	Rating completed by:	kenny.byrom
rall Performance Rating: 3.0 Id you select/recommend this vendor again? eck box for Yes. Leave Blank for No)	Rating completed by:	kenny.byrom
rall Performance Rating: 3.0 Ild you select/recommend this vendor again? eck box for Yes. Leave Blank for No)	Rating completed by:	kenny.byrom
4	Rating completed by:	kenny.byrom
erall Performance Rating: 3.0 uld you select/recommend this vendor again? eck box for Yes. Leave Blank for No)	Rating completed by:	kenny.byrom
arall Performance Rating: 3.0 uld you select/recommend this vendor again? eck box for Yes. Leave Blank for No) Yes C No	Rating completed by:	kenny.byrom Date
arall Performance Rating: 3.0 uld you select/recommend this vendor again? eck box for Yes. Leave Blank for No)		
erall Performance Rating: 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.		Date
erall Performance Rating: 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.		Date

Contract Renewal Evaluation Form

Date:	7/25/2018
Department:	Public Works
Contract Number:	17ITBC104868AMH
Contract Title:	Fire Hydrants and Parts

Instructions:

It is extremely important that every contract be rigidly scrutinized to determine if the contract provides the County with value. Each renewal shall be reviewed and answers provided to determine whether services should be maintained, services/scope reduced, services brought in-house or if the contract should be terminated. Please submit a completed copy of this form with all renewal requests.

Describe what efforts were made to reduce the scope and cost of this contract.

The scope and cost reduction efforts of this contract are limited since this contract is to renew existing contract for fire hydrants and parts. The fire hydrants and parts are essential for maintenance and repair of the water system. These hydrants and parts are manufactured items which cannot be produced inhouse. These items are necessary for replacement of failed and aged units, and are used to effectively maintain the existing Water Distribution System in Fulton County. If this contract was reduced or delayed it could delay the department's response time in responding to make hydrant repairs within a timely manner.

Describe the analysis you made to determine if the current prices for this good or service is reflective of the current market. Check all applicable statements and provide documentation:

X Internet search of pricing for same product or service: 7/25/2018. Date of search: Pricing Varies due to the Price found: different size, and height of each fire hydrant. . Different features / Conditions: 5 1/4" Barrel Diameter Hydrant with 4' Bury, 5 1/4" Barrel Diameter Hydrant with a 4' 6" Bury, 5 1/4" Barrel Diameter Hydrant with 5' Bury, 5 1/4" Barrel Diameter Hydrant with 6' Bury. Percent difference between internet price and renewal price: 25% - 29% higher

Explanation / Notes:

Sample Materials: Items 1, 2, 3, and 4, of the contract pricing sheet, 5 ½" Barrel Diameter Hydrant with 4' Bury, 5 ½" Barrel Diameter Hydrant with a 4' 6" Bury, 5 ½" Barrel Diameter Hydrant with 5' Bury, 5 ½" Barrel Diameter Hydrant with 6' Bury.

Samples of the internet pricing of material out of the group of materials covered in this contract. Internet's pricing of sampled items are listed below. Private commercial pricing are significantly higher than contracted municipal pricing. The internet price which is 25% - 29% higher because it is quoting

18-1005

gross prices, however the County purchases several different types of Water Meters, therefore the prices are lower.

For Example	Our Price	Compared Price
Line# 1 - 5 1/4" Barrel Diameter Hydrant with 4' Bury	\$1405.30	\$1725.00
Line# 2 - 5 1/4" Barrel Diameter Hydrant with 4' 6" Bury	\$1438.23	\$1800.00
Line#3 - 5 1/4" Barrel Diameter Hydrant with 5' Bury	\$1470.82	\$1875.00
Line# 4 - 5 1/4" Barrel Diameter Hydrant with 6' Bury	\$1536.16	\$1975.00

☐ Market Survey of other jurisdictions:

Date contacted:	7/25/2018			
Jurisdiction Name / Contact name:	ontact name: Floyd County Randy McCull			
Date of last purchase:	Purchase Fire needed.	Hydrants as		
Price paid:	Unknown. Fire Hydrant Pricing varies per item and per height of the hydrant			
Inflation rate:				
Adjusted price:	Unknown.			
Percent difference between past purchase price and renewal price:	Unknown			
Are they aware of any new vendors?	X Yes	□ No		
Are they aware of a reduction in pricing in this industry?	☐ Yes	X No		
How does pricing compare to Fulton County's award contract?	Fire Hydrant Pricing var per item and per height hydrant			

Explanation / Notes:

Surrounding jurisdictions such as City of Rome, City of Dalton, Bartow County, Fannin County, and Pickens County all use Fire Hydrants and parts.

- ☐ Other (Describe in detail the analysis conducted and the outcome):
- 3. What was the actual expenditure (from the AMS system) spent for this contract for previous fiscal year?

\$157,451.64

4. Does the renewal option include an adjustment for inflation?	X Yes	□ No
Was it part of the initial contract?	X Yes	□ No
Date of last purchase:	9/24/2017	
Price paid:	\$1438.23	
Inflation rate:	None	
Adjusted price:	\$1438.23	
Percent difference between past purchase price and renewal price:		
Explanation / Notes: Current vendor did not opt for CPI increase on Fire Hydrant and Parts		
5. Is this a seasonal item or service? ☐ Yes X No		
A service contract for Fire Hydrants and Parts is needed by the P round basis to complete the process for installing new, and repair This contract is essential and will ensure the availability of fire hyd maintenance and repair of the Water Distribution System. These cannot be produced in-house.	existing Fire Hydi Irants and parts th	rants and Parts. lat are essential for
7. What would be the impact on your department if this contrac	t was not approv	ed?
Approval by the Board of Commissioners in the renewal of this co Department to effectively complete the process of installing new a within the Water Distribution System. If this contract is not renework response time in responding to any failed or aged fire hydrants with	ntract is critical fo nd repairing exist ed it could delay the	r the Public Works ing Fire Hydrants ne department's
Kenny Byrom	7/25/201	3
	Date	8
Alde	8/12/18	
Department Head	Date	

MARKET SURVEY

Date:

July 25, 2018

Department:

Public Works Department

Contract Number:

17ITBC104868AMH

Contract Title:

Fire Hydrant and Parts

Prepared by:

Kenny Byrom, Management Policy Analyst III

I have completed a telephone market survey of the following organizations and received the comments noted.

Organization:	Floyd County / City of Rome	City of Dalton	Bartow County	Fannin County	Pickens County
Person:	Randy McCullough	Mark Buckner		Larry Chapman	Phillip Dean
Phone No.:	(706)-236- 4568	(706)-278-1313	(770)-387- 5088	404-202-9663	(706)-253-8875
Position:	Inventory and Safety Manager	Chief Watershed Service Officer	No Return Phone Call	Vice Chairman Water Authority	Director, Pickens County Water System
Are you aware of any new vendors?	Consolidated Pipe Lawrenceville Ga.	No		No	No
Are you aware of a reduction in pricing in this industry?	No	No		No	No
How does pricing compare to FC's current contract?	Prices vary per type and size of each fire hydrant.	Prices vary per type and size of each fire hydrant.		Prices vary per type and size of each fire hydrant.	Prices vary per type and size of each fire hydrant.
Considering all factors, would you renew or re-bid now?	Renew	Purchase Hydrants and parts on a needed basis		Renew	Purchase Hydrants and parts on a needed basis
Term of contract.	Purchase as needed	Purchase Hydrants and parts on a needed basis		Purchase as needed	Purchase as needed

18-1005

				BID TAB	1							
BID NUMBER/QUOTE #: 17ITBC104868A-MH								I				
DID DECORIDE ON THE COLUMN TO												
BID DESCRIPTION: FIRE HYDRANTS AND PARTS	-											
REQUESTING DEPARTMENT: DEPARTMENT OF PUBLIC WORK	S											
			500		NDOR NAM			ESS		NDOR NAI		
					ADDRESS		E LESIN			VE WATER	The second secon	
			702	5 Northwir	nds Drive	NW Concord,		702		ADDRESS	NW Concord,	
					NC 28027	itti ooncora,		102				
17ITBC104868A-MH - Fire Hydrants and Parts					NO LOUL!		NC 28027 TELEPHONE:					
					ELEPHONE							
			8	70	04-788-980	0	1		70	04-788-980	0	
				(CONTACT:		8		-	CONTACT:		
					Julie Cline					Julie Cline		
					Think to be an in the		FEW S	TO H		100	Name of the last	12 MONTH
	47.55500	1										CHANGE HALF 1
	UNIT	QTY	BI	ID UNIT \$			QTY	C	PI UNIT \$	TOTAL		CPI% = 3.1%
1.) 5 1/4 barrel diameter hydrant with 4' bury	EA	40	\$	1,405.30		56,212.00	40	\$	1,448.86	\$	57,954.57	103.10%
2.) 5 1/4 barrel diameter hydrant with 4ft 6inch bury	EA	50	\$	1,438.23		71,911.50	50	\$	1,482.82		74,140.76	103.10%
3.) 5 1/4 barrel diameter hydrant with 5' bury	EA	40	\$	1,470.82		58,832.80	40	\$	1,516.42		60,656.62	103.10%
4.) 5 1/4 barrel diameter hydrant with 6' bury	EA	15	\$	1,536.16		23,042.40	15	\$	1,583.78		23,756.71	103.10%
5.) 6" extension kit for 4 1/2 " barrel MH 129	EA	75	\$	167.39		12,554.25	75	\$	172.58		12,943.43	103.10%
6.) 12" extension kit for 4 1/2" barrel MH 129	EA	45	\$	197.83		8,902.35	45	\$	203.96		9,178.32	103.10%
7.) 18" extension kit for 4 1/2" barrel MH 129	EA	15	\$	213.04		3,195.60	15	\$	219.64		3,294.66	103.10%
8.) 24" extension kit for 4 1/2" barrel MH 129	EA	10	\$	208.48		2,084.80	10	\$	214.94	\$	2,149.43	103.10%
9.) 6" extension kit for 5 1/4" barrel MH 129	EA	50	\$	182.61		9,130.50	50	\$	188.27		9,413.55	103.10%
10.) 12" extension kit for 5 1/4" barrel MH 129	EA	25	\$	208.48		5,212.00	25	\$	214.94		5,373.57	103.10%
11.) 18" extension kit for 5 1/4" barrel MH 129	EA	15	\$	238.91	\$	3,583.65	15	\$	246.32		3,694.74	103.10%
12.) 24" extension kit for 5 1/4" barrel MH 129	EA	10	\$	264.78		2,647.80	10	\$	272.99		2,729.88	103.10%
13.) 6" extension kit for 4 1/2" barrel US M-94	EA	15	\$	169.57	\$	2,543.55	15	\$	174.83		2,622.40	103.10%
14.) 12" extension kit for 4 1/2" barrel US M-94	EA	15	\$	203.48	\$	3,052.20	15	\$	209.79		3,146.82	103.10%
15.) 18" extension kit for 4 1/2" barrel US M-94	EA	5	\$	237.39		1,186.95	5	\$	244.75		1,223.75	103.10%
16.) 24" extension kit for 4 1/2" barrel US M-94	EA	5	\$	262.83		1,314.15	5	\$	270.98		1,354.89	103.10%
17.) 6" extension kit for 5 1/4" barrel US M-94	EA	15	\$	169.57	\$	2,543.55	15	\$	174.83		2,622.40	103.10%
18.) 12" extension kit for 5 1/4" barrel US M-94	EA	15	\$	203.48		3,052.20	15	\$	209.79		3,146.82	103.10%
19.) 18" extension kit for 5 1/4" barrel US M-94	EA	5	\$	237.39		1,186.95	5	\$	244.75		1,223.75	103.10%
20.) 24" extension kit for 5 1/4" barrel US M-94	EA	5	\$	262.83		1,314.15	5	\$	270.98		1,354.89	103.10%
21.) 6" extension kit for 4 ½" barrel Clow Medallion	EA	40	\$	182.61		7,304.40	40	\$	188.27		7,530.84	103.10%
22.) 12" extension kit for 4 ½" barrel Clow Medallion	EA	25	\$	213.04		5,326.00	25	\$	219.64		5,491.11	103.10%
23.) 18" extension kit for 4 ½" barrel Clow Medallion	EA	10	\$	257.74		2,577.40	10	\$	265.73		2,657.30	103.10%
24.) 24" extension kit for 4 ½" barrel Clow Medallion	EA	5	\$	258.70		1,293.50	5	\$	266.72		1,333.60	103.10%
25.) 6" extension kit for 5 ½" barrel Clow Medallion	EA	25	\$	200.87		5,021.75	25	\$	207.10		5,177.42	103.10%
26.) 12" extension kit for 5 ¼" barrel Clow Medallion	EA	25	\$	237.39		5,934.75	25	\$	244.75	\$	6,118.73	103.10%
27.) 18" extension kit for 5 ¼" barrel Clow Medallion	EA	10	\$	269.35		2,693.50	10	\$	277.70	\$	2,777.00	103.10%
28.) 24" extension kit for 5 ¼" barrel Clow Medallion	EA	5	\$	314.13		1,570.65	5	\$	323.87		1,619.34	103.10%
29.) 6" extension kit for 4 1/2" barrel AD B84-B	EA	40	\$	160.26		6,410.40	40	\$	165.23		6,609.12	103.10%
30.) 12" extension kit for 4 ½" barrel AD B84-B	EA	25	\$	186.70		4,667.50	25	\$	192.49		4,812.19	103.10%
31.) 18" extension kit for 4 ½" barrel AD B84-B	EA	10	\$	213.13		2,131.30	10	\$	219.74		2,197.37	103.10%
32.) 24" extension kit for 4 1/2" barrel AD B84-B	EA	5	\$	239.61		1,198.05	5	\$	247.04		1,235.19	103.10%
33.) 6" extension kit for 5 ¼" barrel AD B84-B	EA	40	\$	160.26		6,410.40	40	\$	165.23	1	6,609.12	103.10%
34.) 12" extension kit for 5 ¼" barrel AD B84-B	EA	25	\$	186.70		4,667.50	25	\$	192.49		4,812.19	103.10%
35.) 18" extension kit for 5 ¼" barrel AD B84-B	EA	10	\$	213.13		2,131.30	10	\$	219.74		2,197.37	103.10%
36.) 24" extension kit for 5 ¼" barrel AD B84-B	EA	5	\$	239.57		1,197.85	5	\$	247.00		1,234.98	103.10%
37.) 6" extension kit for 4 ½" barrel Mueller Super Centurion	EA	10	\$	203.48		2,034.80	10	\$	209.79		2,097.88	103.10%
38.) 12" extension kit for 4 ½" barrel Mueller Super Centurion	EA	5	\$	237.39		1,186.95	5	\$	244.75		1,223.75	103.10%
39.) 18" extension kit for 4 1/2" barrel Mueller Super Centurion	EA	1	\$	288.26		288.26	1	\$	297.20		297.20	103.10%
40.) 24" extension kit for 4 ½" barrel Mueller Super Centurion 41.) 6" extension kit for 5 ½" barrel Mueller Super Centurion	EA	1 15	\$	288.26		288.26	11	\$	297.20		297.20	103.10%
The extension kit for 5 % parrel mueller Super Centurion	EA	15	\$	223.83	\$	3,357.45	15	\$	230.77	\$	3,461.53	103.10%

		(STORES)	300		NDOR			100000	VE	NDOR N	IAME	
	ADDRESS 7025 Northwinds Drive, NW Concord, NC 28027					FORTILINE WATERWORKS						
						ADDRESS						
17ITBC104868A-MH - Fire Hydrants and Parts						7025 Northwinds Drive, NW Concord, NC 28027						
					LEPH				TE	LEPHO	NE:	
			704-788-9800					704-788-9800				
					ONTA			New York	- 7	CONTAC	19990	
42.) 12" extension kit for 5 ¼" barrel Mueller Super Centurion	EA	5	\$	264.52	\$	1,322.60	5	\$	272.72		1,363.60	103.10%
43.) 18" extension kit for 5 ¼" barrel Mueller Super Centurion	EA	1	\$	300.13	\$	300.13	1	\$	309.43	\$	309.43	103.10%
44.) 24" extension kit for 5 1/4" barrel Mueller Super Centurion	EA	1	\$	339.13	\$	339.13	1	\$	349.64	\$	349.64	103.10%
45.) Traffic flange repair kit for 4 1/2" barrel MH129	EA	50	\$	76.70	\$	3,835.00	50	\$	79.08	S	3,953.89	103.10%
46.) Traffic flange repair kit for 5 1/4" barrel MH – 129	EA	50	\$	76.70	\$	3,835.00	50	\$	79.08	S	3,953.89	103.10%
47.) Traffic flange repair kit for 4 1/2" barrel US M-94	EA	50	\$	86.09	\$	4,304.50	50	\$	88.76		4,437.94	103.10%
48.) Traffic flange repair kit for 5 1/4" barrel US M-94	EA	50	\$	86.09	\$	4,304.50	50	\$	88.76		4,437.94	103.10%
49.) Traffic flange repair kit for 4 1/2" barrel Clow Medallion	EA	50	\$	93.13	\$	4,656.50	50	\$	96.02	S	4,800.85	103.10%
50.) Traffic flange repair kit for 5 1/4" barrel Clow Medallion	EA	50	\$	98.61	\$	4,930.50	50	S	101.67	S	5,083.35	103.10%
51.) Traffic flange repair kit for 4 1/2" barrel AD B84-B	EA	50	\$	87.26	\$	4,363.00	50	\$	89.97		4,498.25	103.10%
52.) Traffic flange repair kit for 5 1/4" barrel AD B84-B5	EA	50	\$	87.26	\$	4,363.00	50	\$	89.97	117.00	4,498.25	103.10%
53.) Traffic flange repair kit for 4 1/2" barrel Mueller Super Centurion	EA	25	\$	93.13	\$	2,328.25	25	\$	96.02		2,400.43	103.10%
							3450533	1000				
GRAND TOTAL:			110000			\$380,077.43					not to exceed 380,077.43	
BIDS MAILED			11	ESPONSE:	Derica.		TAR HELL	NO R	ESPONSE:		LANCE DE SIL CONTROLLA	Les comments of
BIDS RECEIVED:	ANTE ALE		NO-E	BIDS:				NO-B	IDS:		AND A SHARE OF A	

NOTE:

Renewal year price increase(s) in this contract, if exercised by Fulton County shall be limited to the bid prices offered under this solicitation and subsequent contract unless otherwise specifically accepted by Fulton County, but in no instance shall exceed the consumer price index. The term "consumer price index" shall mean the consumer price index published by the Bureau of Labor statistics of the U.S. Department of Labor with particular reference to the average shown on such index for all terms.

1	MHO	POLI	ARD
ı	MILLO	T OLL	Λ ND

APPROVE:	DATE: _	11/20/18